

### Kansas Corporation Commission Oil & Gas Conservation Division

1141476

Form ACO-1
June 2009
Form Must Be Typed
Form must be Signed
All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🗌 East 🗌 West
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
□ Oil         □ WSW         □ SHOW           □ Gas         □ D&A         □ ENHR         □ SIGW           □ OG         □ GSW         □ Temp. Abd.           □ CM (Coal Bed Methane)         □ Cathodic         □ Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet  Multiple Stage Cementing Collar Used? Yes No  If yes, show depth set: Feet  If Alternate II completion, cement circulated from: sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator:  Well Name: Original Total Depth:  Deepening Re-perf. Conv. to ENHR Conv. to SWD  Conv. to GSW	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)  Chloride content: ppm Fluid volume: bbls  Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled       Permit #:	Operator Name:
Spud Date or Date Reached TD Completion Date or Recompletion Date  Recompletion Date	

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY				
Letter of Confidentiality Received				
Date:				
Confidential Release Date:				
Wireline Log Received				
Geologist Report Received				
UIC Distribution				
ALT				

Side Two

1141476

Operator Name:			Lease Name: _			_ Well #:	
Sec Twp	S. R	East West	County:				
time tool open and clo	sed, flowing and shut es if gas to surface tes	d base of formations per -in pressures, whether s st, along with final chart( well site report.	shut-in pressure rea	ached static level,	hydrostatic press	sures, bottom he	ole temperature, fluid
Drill Stem Tests Taken (Attach Additional S		Yes No		₋og Formatio	n (Top), Depth an	d Datum	Sample
Samples Sent to Geol	·	☐ Yes ☐ No	Nan	ne		Тор	Datum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)	d Electronically	Yes No Yes No Yes No					
List All E. Logs Run:							
		CASING Report all strings set-		lew Used termediate, producti	on, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
	1	ADDITIONAL	_ _ CEMENTING / SQ	UEEZE RECORD	I		
Purpose:  Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	# Sacks Used		Type and F	Percent Additives	
Shots Per Foot		ON RECORD - Bridge Pluç ootage of Each Interval Per			cture, Shot, Cement mount and Kind of Ma	•	Depth
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or EN	HR. Producing Met	hod:		other (Explain)		
Estimated Production Per 24 Hours	Oil E	Bbls. Gas	Mcf Wa	ter Bl	pls. (	Gas-Oil Ratio	Gravity
DISPOSITIO	Used on Lease	Open Hole		ly Comp. Con	nmingled mit ACO-4)	PRODUCTIO	N INTERVAL:



PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Wildcat Oil & Gas P O Box 40 Spivey, KS 67142

## INVOICE

Invoice Number: 134509

Invoice Date: Jan 17, 2013

Page: 1

Now Includes:



Customer ID	Well Name# or Customer P.O.	Payment Terms	
Wild	Liebl #7	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Medicine Lodge	Jan 17, 2013	2/16/13

Quantity	Item	Description	Unit Price	Amount
120.00	MAT	Class A Common	17.90	2,148.00
80.00	MAT	Pozmix	9.35	748.00
4.00	MAT	Gel	23.40	93.60
7.00	MAT	Chloirde	64.00	448.00
214.88	SER	Cubic Feet	2.48	532.90
180.60	SER	Ton Mileage	2.60	469.56
1.00	SER	Surface	1,512.25	1,512.25
20.00	SER	Pump Truck Mileage	7.70	154.00
1.00	SER	Manifold Swedge Rental	275.00	275.00
20.00	SER	Light Vehicle Mileage	4.40	88.00
1.00	CEMENTER	Darin Franklin		: 5:
1.00	CEMENTER	Ron Gilley		
1.00	OPER ASSIST	Brandon Boor		
	u.J.			
an i				
2.5				
			2.0	
ALL PRICES AR	F NET PAVARI	Subtotal	The state of the s	6,469.31

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE Feb 11, 2013

Subtotal	6,469.31
Sales Tax	250.94
Total Invoice Amount	6,720.25
Payment/Credit Applied	y Caller y Carler To the Committee of th
TOTAL	6,720.25

# ALLIED OIL & GAS SERVICES, LLC Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

SERVICE POINT:

Medicine Lolse,KS

DATE 1-17-2013 SEC. 27 TYP RANGE 11W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH Sloope
	Rattleshalce	P) 2551 44	COUNTY	STATE
			. [	1,-5
1280 1037 100	North to Curve		1 1.0	· '41
CONTRACTOR HSrs+ #1	OWNER W	11/657 0	.7 8 G93	
TYPE OF JOB SIDE Race	_			
HOLE SIZE 1214 T.D. 221	CEMENT			
CASING SIZE 8 5/8 DEPTH 224'	_ AMOUNT OR	DERED 2005	Sr 60:40	2% GP1
TUBING SIZE DEPTH	3°/000			
DRILL PIPE DEPTH				
TOOL DEPTH		100 - 1	01 1700	01112
PRES. MAX MINIMUM	_ COMMON		17.90	9178'00/
MEAS. LINE . SHOE JOINT	POZMIX	8050	@ <u>9.35</u>	748.00
CEMENT LEFT IN CSG. 20'	_ GEL	1 SX	@ 23.40	_93.60
PERFS.	_ CHLORIDE _		@1H'W	77.87h
DISPLACEMENT 13 bbs of freshware	ASC		_@	
EQUIPMENT			_@	
come de disconsidera della			_ @	
PUMPTRUCK CEMENTER Darin F.	-			
	_		^	
DIN V TOUCK	-		@	
	-		@	
BULK TRUCK DRIVER B 19ASSA 3	-		@ ·	
# DRIVER	- HANDLING_	214.88	@ 2.48	532,90
J	MILEAGE 9.	03x20 x2.1	M	41050
REMARKS:			TOTAL!	4440.Co
4	===	180,60	TOTAL	7440·M
Pipeon bottom & breek Circulation pun	P	1801		
3 bhis from WSEr cherry mr 2005. Cenent, 259185-13 bhis fresh water	- 27	SERVI	CE	
Shorin , coment Lie Circulate	-	771.		
DINGIN JEEINENTERIC CITCOISTE		B_229		15:00
	PUMP TRUCK			1512.25
	EXTRA FOOT	AGE	_@	-
	_ MILEAGE	- C	07.70	154.00
	- MANIFOLD	Wesservsin	<u> </u>	275.00
		Wessesusjy	1@ 4.40_	_00.88_
			_@	
CHARGE TO: WILLES O'I & GCS	_		,	ŧ
STREET			TOTAL	3039.25
SIKEEI				
CITYSTATEZIP				
	- F	LUG & FLOAT	EQUIPMEN	T
`				•
,			@	
			-@ <del></del>	
To: Allied Oil & Gas Services, LLC.	-		-@	
You are hereby requested to rent cementing equipment	· · · · · · · · · · · · · · · · · · ·			
and furnish cementer and helper(s) to assist owner or	•		- J	
contractor to do work as is listed. The above work was			Name and Associated Association and Associated Association and	
done to satisfaction and supervision of owner agent or			TOTAL	
contractor. I have read and understand the "GENERAL		250	0.94	
TERMS AND CONDITIONS" listed on the reverse side.		Any)	11.0	-
	TOTAL CHARG	GES (A)	04/14.31	
105° -10 10 11 1			al	
PRINTED NAME ( ) rill Hole / hund	DISCOUNT	1293.	56 IF PAI	O IN 30 DAYS
		Ou \$ = 17 ~		
PRINTED NAME & Scott ( Adolhant SIGNATURE & Scott ( Adolhand		Net \$5175:	.45	£.
The state of the s	46			



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Wildcat Oil & Gas P O Box 40 Spivey, KS 67142

### INVOICE

Invoice Number: 134601

Invoice Date: Jan 26, 2013

Page: 1

Now Includes:



CustomerID	Well Name# or Customer P.O.	Payment Terms  Net 30 Days	
Wild	Liebl #7		
Job Location	Camp Location	Service Date	Due Date
KS1-02	Medicine Lodge	Jan 26, 2013	2/25/13

Quantity	Item	Description	Unit Price	Amount
THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE OWNER	MAT	Class A Common	17.90	429.60
16.00	MAT	Pozmix	9.35	149.60
2.00	MAT	Gel	23.40	46.80
125.00	MAT	Class H Premium	21.20	2,650.00
14.00	MAT	SMS	3.30	46.20
625.00	MAT	Kol Seal	0.98	612.50
6.00	MAT	Salt	26.35	15 <mark>8</mark> .10
14.00	MAT	Cla Pro	34.40	481.60
12.00	MAT	ASF	58.70	704.40
192.04	SER	Cubic Feet	2.48	476.25
165.90	SER	Ton Mileage	2.60	431.36
1.00	SER	Production Casing	2,765.75	2,765.75
20.00	SER	Pump Truck Mileage	7.70	154.00
1.00	SER	Manifold Head Rental	275.00	275.00
20.00	SER	Light Vehicle Mileage	4.40	88.00
1.00	EQP	5.5 Rubber Plug	85.41	85.41
1.00	EQP	5.5 Guide Shoe	280.80	280.80
1.00	EQP	5.5 AFU Insert	244.53	244.53
8.00	EQP	5.5 Scratchers	88.92	711.36
6.00	EQP	5.5 Centralizer	57.33	343.98
1.00	CEMENTER	Darin Franklin	J. 1	
	PE NET, PAYAB	Subtotal		Continue

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE Feb 20, 2013

Subtotal	Continued
Sales Tax	Continued
Total Invoice Amount	Continued
Payment/Credit Applied	
TOTAL	Continued



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Wildcat Oil & Gas P O Box 40 Spivey, KS 67142

## INVOICE

Invoice Number: 134601

Invoice Date: Jan 26, 2013

Page: 2

Now Includes:



Customer ID	Well Name# or Customer P.O. Liebl #7	Payment Terms  Net 30 Days	
Wild			
Job Location	Camp Location	Service Date	Due Date
KS1-02	Medicine Lodge	Jan 26, 2013	2/25/13

Quantity	Item	Description	Unit Price	Amount
1.00	EQUIP OPER	Scott Priddy		
1.00	OPER ASSIST	Brandon Boor	-	
			=-	
	- 1			
_				
	Frail .		le l	
	T 111 7, 146		35 7 5	
	111			
	- 1			
			2.11	
7 14	- us			
				and the same of th
	1111			
			The set	l'ail
	1 10 1			3 3 1
	DENET DAVABL	Subtotal	Alle Call Call	11,135

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE Feb 20, 2013 

 Subtotal
 11,135.24

 Sales Tax
 506.98

 Total Invoice Amount
 11,642.22

 Payment/Credit Applied
 11,642.22

 TOTAL
 11,642.22

## ALLIED OIL & GAS SERVICES, LLC 059687 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

SERVICE POINT:

000112211KB, 127010 70072				Megici	Ne Lodge, Ks
DATE 1-26-2013 SEC. 27 TVP. RAN	GE IIN CA	LLED OUT	ON LOCATION	JOB START	JOB FINISH
	ATION 281 & Re	W. C.		COUNTY Berber	STATE KS
A Company of the Comp	ithe egs-			100	7,3
CONTRACTOR Hart #1		OWNER WI'	11 (9 4 () 11	U.S.	I Pinner
TYPE OF JOB Production		OHNER 1011	16.09-011	@ <u>0</u> 945	
	898'	CEMENT		1	
CASING SIZE 6½ 14世 DEPTH A TUBING SIZE DEPTH	4855'				4906011.4% 1+ +5# KUSeg
DRILL PIPE DEPTH		01113) 1201	03 01905	7 70 70 37	10.4377.4324)
TOOL DEPTH PRES. MAX MINIMU	N -	governou s	24	- 17 00	1120 100
	INT 38'	COMMON_Z	6	@ 17.90 @ 9.35	149.60
CEMENT LEFT IN CSG.		GEL	2 14	@23.40	46.80
PERFS.	6 KCL Water	CHLORIDE		_@	
DISPLACEMENT 1/9 6/15 of 2% EQUIPMENT	6 KCL Nater	ASC		_@Z/.20 _@	2650.00
EQUIPMENT		sms	14 =	@3.30	46.20
PUMPTRUCK CEMENTER Danh F		Kolsear	625=	_@ <u>-98</u>	612.50
#368-333 HENPER Scott P.	2	Claper	14 Cg (S	_@ <i>26.35</i> _@ <i>34.4</i> 0	158.10
#356-290 DRIVER RYCDAU R	3	ASF	12 Bbs	@58.70	704.40
#356-290 DRIVER Brenson B				_@	/
# DRIVER	A New York	HANDLING_	192.04	@ 2.48	476.25
		MILEAGE 8		2.60	431.36
REMARKS:			/ /	TOTAL	6186.41
Pipe on bottom + break Circulation	n, Punp	1	65.90		
20 bbis KCI water, 3 lbis fresh we	stor, 12bhis	: <b>4</b>	SERV	ICE	
MSF, 3 bhls fresh water, my 153, mix 25 so leg & Cement, mix 125	Sy dell Comens	DEPTH OF JOE	HR.CC'	***************************************	
Stud down wash pump & lines Pol	esse Plus	PUMP TRUCK		2765.7.	S
Start Espignement, Lift prosure GI	45 hbls	EXTRA FOOTA			79750
Slow 1920 to 36pm 92 110 hbls, 1	pung glus ge	MILEAGE		@ 7.70 @	275.60
	e contraction	MANIFOLD	20	@4.40	88.00
W		-		_@	
CHARGE TO: Willes Oil & GS	5				2202 75
STREET				TOTAL	3282.75
CITYSTATE	ZIP		The Control of the Co		
		₹".	LUG & FLOA	T EQUIPME	NT'
		1.0.44		-	SC 111
		1-Guite Sh	oe .		280.80
To: Allied Oil & Gas Services, LLC.		I-BFUIT			244.53
You are hereby requested to rent cementing		8- 3cresci		@88.92	711.36
and furnish cementer and helper(s) to ass	ist owner or	6-Centralia	lars	_@ <i>57.</i> 33	543.70
contractor to do work as is listed. The ab done to satisfaction and supervision of ov				TOTAL	1666.08
contractor. I have read and understand th			6-0		
TERMS AND CONDITIONS" listed on t		SALES TAX (I		6,97	,
TO		TOTALCHAR		35.24	
PRINTED NAME X IM TIERCH	E	DISCOUNT	20%	· IF PA	ID IN 30 DAYS
F.D.		Ŋ	et 89	08.19	ID IN 30 DAYS
SIGNATURE X M MULL		, 0			1
Thank You!!					200
1114112 100/11					DUV